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15% U ST AT § Fler ﬁaﬁ?f'ﬁﬁwﬁaﬂ'os (78 AaT 3T FH VIA AT 9 F faqr

afEd q{1eT
EXAMINATIONFOR THE POST OF saTION MASTER IN PAYMATRIX LEVEL-06 (7™ PC) against 15%
LDCE quota
3O TH 31F/Max.mark :100 37@f®)/Duration : 02hrs

AT 3epaeT/GENERAL INSTRUCTIONS
3 R F R 70 ey oy ey AT RHT 3T FAS 9T IFHIGER 5 A,
TET AT Hh AT oy iy areqfer €T Gl
Indication of name or any other identity/ symbols of the candidate in the answersheet except in
the columns or space provided on the answer sheet is not permitted
2. amﬁmsma’r%mmg @mgaﬁmm:ﬁzﬁﬁrﬁné |
Write the answers to objective questions only in the OMR SHEEts supplied.
3. orpoey, AT, AlTREfa e i 1 ST HA HAT
Use of calculator, mobile, logarithmic table, etc is strictly prohibited.
4. YRAF YA AT 01 W%lEachquestion carries 01 mark. ,
5. R UT {110 U g1 IFHIGaRHIRad 110 gt F ¥ 100 WRAT Ho@E AT g1 AR
SfEaR 100 AN oA FEaT T ¥, A TEI100 TeHT P el § FeArh A

SR /The questions paper contain 110 questions. The candidate has to answer 100 questions

only out of 110 questions. If candidate answers more than 100 questions only the first 100

questions will be evaluated.
2aT 101 ¥110 T TTS(¥Fed) & HefOd T2 § |Questions 101 to 110 are fromRajbhasha

(Optional). v
7. Wma*wﬁm—q% a,b,c&d

Eachquestion has four options a,b,c& d.

FEgfers FER & WAl @ 3R & wHT b o ueR & AR guR S R
mmﬁwmmm'mmmﬁmﬁmmmﬁwmmm
HU'R’ & AAHS H, W IaT @0 3{(“11317-1' el fpar G’ITQTITIWhile answering objective type

questions no correct|ons of any type like cutting, overwriting erasmg and modifying the answer
in any way is not permltted. In case of any correction are made, such answer shall not be

evaluated.

WWM&WWMWH%WW%%@WWW
1/3 Hare ﬁ'&TGﬂQ?TTIThere will be negative marking for incorrect answer &1/3 of the marks
allotted for each question will be deducted for the wrong answer.

10. Faa qﬁ-’r T & 37 & / Mark one field only per question.
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1 WINCH .. AR/ RS (Commission ©f Railway Safety) belongs to
e i?”’G“T‘W/ Ministry of Railways b. ST 353 IE"F‘H/Minlstry of Civil Aviation

C-& & HITWA/ Ministry of Home affairs ; ZF;\T%"ﬁ/None

2. mwwmﬁmmﬁmﬁmﬁ?“wmﬁmmﬁm ZART FFd gl
TfRT/ stations of SWR where passenger trains "Un 0N @ newly laid track should be approved by
a. WHRTH/ CRS b. FTHEAY/ Cso

c. aRATHIN/5r.050 d. FH/ORM

3. T TS TR - Rywerer fy@an/Loop line starter signal will show
a. §0/Green b, drar o arer/Yellow & Red
c. T, e/ Green, Red & Yellow  d- % 7161/None

4. TR WIS T Grate ReaT AT S o BT ASTE YT/ Slip siding is provided when
there is falling gradient

a. T YarRIeT T 3R/ Towards station section
b ST Q=T ¥ 3T /Towards block section
c. A 31T 8 g=il/Both A or B d. S 7Et/None

o

AT 31 & 379TeT 3 Fore et & & hiel dY YA F7 3TaRThar @It §/Which of the
following facility is needed for simultaneous reception of trains.

a. aT asfEar/siip siding b. *?Wﬂ?%"’TICatch siding
c. #2389/ Sand hump d. TR HAT/Station limit

&

mm*mﬁ_w‘mmmmmmmw@ﬁmw
T8 /Maximum Permissible Speed of trains over main line at stations provided with

Standard lIR interlocking is
~a. 140 RATEETkmph b. 160 fR#TIErETkmph
c. 110 fRewEreT/kmph " d. 50 feraTorEreT/kmph

7. maﬁﬁﬁﬁﬁﬁmwmmm%ﬁhe occasions where Calling ON signal can

be used are

a. SO ATSeT OR T WIed &t & felT/Receiving a train on obstructed line
b. 379 IO fATeTo ST &/when signal above is defective

c. AgBalal /both A&B
 d. AT FA9TeTeT TSt R TS {el & VT /to receive on non signaled line

8. THGR W e [Rareter A &5 forar Siman § ae aifay @ ----ﬁtﬁﬁaa\'c?r%/mrmany when
shunt signal is taken off the speed is restricted to

a. 10 f#T9EET/10kmph b. 15 fereTorEreT/15kmph
c. 20 FFauEer/20kmph  d. 25 FrefigEer/25kmph
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9, tiu‘rmmﬁnmﬂaq-___gsm mqamm &/ Complete arrival signal is exchanged
between '
a. THUATIMS/SM & Gp b, CETH & ST TIITIT/SM & LP
c. ST ITISE T M/ p g, 6D d. @18 afaser 781/ No restriction

10. ST AR AT aﬁ“‘ﬁﬁ‘ﬂm FE ¥ T foRaT ST &/Block Section Limit Board is

provided to facilitate
a -Qﬁ%‘T/ShUnting b. RyaaAfeeT/Signaling
& I'ﬁiﬂ:ﬁ'c‘T/Stabling d. TT% TE1/None
11, TMS(FOIS ) &1 TITATE ? TMs (in FOIS) is the abbreviation of
a. O WAHE O WEW/ Train Management system
b, THAT AHE B ) Terminal Management system
c
d

O wefte wew g) TARADIE 7/ Track Machine system
None of the above

12. mm#m#maﬁﬁpaﬁ 3 qﬁaﬁmmﬁ'ﬂ'/ No passenger carrying train shali

be started from a station before
a. W@ammlwﬁ departure time b.USaCTESS HA/ Advertised time

. IS afaaer s1gi/No restriction d. SIS 7L/ None
13. ?ﬂlé aifer gfcaer ar —-ﬁaﬁqﬁa ﬁ»‘&TG!THT'ﬂT%’U/Permanent Speed Restrictions shall be

notified in

a. 5T U9 THIR/G & SR b.dESYTA/ BWM

‘C.W/Wﬂ‘ - d.ﬁﬂ?ﬁﬂﬂ@ﬁ/OperationsManual

14. SR HRa1 &7 F FoIT IR TAF Reret o 3 Tral FATOT 97 ( Sy )-—ghar afge/ The
percentage of Brake Power Certificate ( BPC ) for-passenger carrying trains at the originating
station shall be , : . :

a.100% b.95 % c.90% d.85%

15. Wﬁ@mm*ﬁﬁ?mm —1fgT/Guard s_ha" be under the orders of the
Station Master ' ,
a. T platform F/Within station platform
b. & TE2AAT o dId/Between two stations
c. T R & 31T/ Within station limits
d. a, bd cHefl/ All of a, b & ¢

16, 217 T FTETATER Ty PRy FFT SR €Y 3o & 2 e et i S T T T
TEEBNHR T -—FHAT SR G ITod FEAT TIT/SM at the station in advance shall advise

SM in rear & Section Controller if a goodstrain does not arrive within its normal running time
plus '

a. 10 fAe¢/minutes b. 15 BT/ minutes
¢. 20 fAAE/minutes d. 30 TR¥IE/minutes
3
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rallway 3
17. Yo gefeamait i -2y Aoftarer faar v €/7he ’ <cldents are classified from
§ . dTEﬁTmT/ PAto EXC'UdIng R &p
A AW ZTHHR TS

b. A RRTFITE 3T 31t Y BYFFUA L0 R excluding | g

¢. 17 16d% /1t0 16
L ARS TR BTI/A toSexcludIngH&J

=

18, MWWWN?/CMSS H accident means
a. AISHIS/Sabotage _
b.wﬁaﬁmwmﬁ/ Train Passing signal at danger
. = ﬁq‘chﬂ?l'?ﬁ/ Train entering into catch siding

d. A 7 /None
19. Ul Yoy T ¥ W3R 7 e 3TEE T -8 Turn out time of MRV from single exit
stationis :
a. 15 fA=Te/minutes b. 20 fAsrey Minutes
¢. 25 fAAE/minutes d. 30 ﬁm?/min'utes ‘ -

20. m"aﬁﬁaﬂ:ﬁqﬁnmmaymﬁﬁﬁﬁma'a' 8/The aspect of automatic stop signals is

controlled by '
a. THUH/SM b. Sl HAHT/Block Instrument
c. 8e1/Panel d.<T FaTe=T/Train movement

21, mmaﬁmm_“;};mmmmﬂﬁw&aﬁon Working RUIe(SWR) should be issued

afresh, after
3. 3 ¥lel/years

b. b.5 ATel/years ‘ : : .
C. 3FNTTENT AT 3 AT St T 9ger 8Y/3 correction slips or 3 years whichever js earlier
d. SHrETars ATe, S 98 8Y/5 correction slips or 5 years whichever is earlier

be treated as serious if the loss of Property exceeds rupees

a.Uhell@/ One lakh b. HT@/Ten lakhs
C. UhEIS/One crore g, a8/ Two crores

22, uﬁﬁq%wmm-«-nm#ma:aa}wgmwmmmm accident will

through: .

a. zmga-awrr

b. Speed 9RYT Speed Circulars-
c. JATEH A Caution order
d. ad@baMr/Botha &b
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24. Mmmm3ww*mﬁmmﬁaﬁwtm
qEaET ST § /Semi automatjc signal when working as automatic signal is identified by
a. UH A O /A marker board b- ¥ AR 9AST /illuminated ‘A’ marker
c. TR & Q&Y both A & B ,gﬂﬁﬂgﬂﬂﬁ/noneofthese

25, A0 A W UiET Ry qp fplt WM F I F G AG =i e T
yoad ¥ ¥ ¥ Rar ey iy /The points on the double line, that must be set
against the blocked line, immediately after the arrival of a train at the station.

a. RAT Rear b, T ffront c. et 3/ either end dzd8 &
S gl / none of above
26. e aEm eshe uRw

mﬁ@a:maa:mmﬁ?rm%/Ho|dersofsing|e

]eournety tickets for a dlstance of more than kms are allowed to break journey
nroute
[A] 200 [B] 400 [C] 300 [D] 500

(Questions 27). 3T WAt & oy ffaf@d IEOG FI 98/ Read the following paragraph

to answer the next questions (Questions 27).

Tailgate means the first Vehicle is being followed very closely by another. Tailgating
another vehicle is unsafe and illegal. Many rear-end collisions are caused by drivers
following too close to the vehicle in front of them. The rules state that a driver must
keep sufficient distance from the vehicle in front in order to stop safely and avoid a
collision. Drivers should allow a minimum two seconds’ gap between their vehicle and
the one ahead. S
27. Tailgating another vehicle is unsafe because:
" a. itmaynotallow sufficient time and space to stop and-avoid a col|15|on

b. Driver may feel bored and distracted.

C. itis against the road rules.

d. Itis always reckless practice

28. 3 & g 3T & qeneiTeRr ——g/ Headquarters of RDSO-----—
a. @5 /Lucknow. b.s$ feelr /New Delhi ceE | Mumbai
d. ¥exrare/Hyderabad

p): ) [ tennis every day.
 A)Play B)Playing  C)Am playing D) Am play
30. How many students in your class have-----—----- from village?
A) Came B)Coming ~ CJCome D) Are coming
31. She is beautiful --—------""" her. : '
ATo B) Then C) Than D) With
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the last two hours,

ice 0
waiting for you inthe 0"('; Have peen D) Has been

B)were
A) Was ) e show.
"""""""""" D) Fro
33, The ticket grants admission o with ) From
A) To B) By
8l
il not pas
34, Unless you ---===-=-"""" hard, you WI”WO,ked D) Works
. siwlok B) Working _word.
35. | have learnt this lesson word -~ Q) By D)With
A) For B) From
36. The synonym of LUCRATIVE ISC profitab|e D) D.e'CISWe
A) Crucial B) Fragile ord on rural families as on city families.

37. The rising of living is asc) Expensé D) Increase
B) Cost h a huge suc
38 33?3?3:? )the programme {0 b¢ thc D)gAcces:ess
. B)Except C) Exp
A) Accept word

ichti the s )
39.Thepen_____ mé)g:;;er than C)shallbe  D)Will be
40. /h\}:lsdad decided to take __and mY siséi)!;A 'f;JS :‘fe market
A)l B)Mine C)Me s
41. A disease that spreads over a large are¢. o
A)Academic  B)Endemic  C)Epidemic  D)Duomatic

42. one appointment by two parties to settlea dISp-ute |

A) Arbiter B)Middleman C) Composer D)Mediator
43.Ramesh _____to the market yesterday

A)Went B) Will go C) Isgoing D) None of these

“44.Choose the correct answer? '

A) My friend has got a new job.

B) My friend do got a new job.

C) My friend is got a new job.

D) My friend did got a new job

45.3H a1y # Tefadt F i AREEr ol ICheck for error in this sentence and correct the

same '
“By the time Geetha reached there, he left the place.”

A)By the time Geetha reached there, he had leave the place.
B)By the time Geetha reached there, he leaved the place.

C)By the time Geetha reached there, he had left the place.
D)No error

46. 1 think itis ___ beautiful landscape I've ever seen.
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A 47%%#13?“%&
131131%%@%%
g T Ry 5y

,Wmmm’?ﬁmﬁa%-wmm%
T | ey Reed T A 3T 3H A # B s w5 o
o IR oy oy % & A

Directions for Q, Ng. 47 only: the following sentence is divided into four parts. Any of the

parts -may contain an errqr. Select the part that has an error. Select option (d), if you find no
errorin the sentence, Ignore Punctuation errors if any.

47. As the celebratiop wa

. s goi oticed Mrs. Sharma fall back (b)/ in her chair
gasping for breath, (c Shing (a)/ we n

)/ No error (d)

48. ——dogs do not bite,
A. to bark
B. bark
C. barking
D. is bark

49. The teacher is popular his pupils.

3. Among b. between
Gy To d. for

50. HE 3ok ﬂﬁ' IChoose the correct word order
a) Why she did leave so early?
b) Why did she leave soearly? -~
c) Why did so early she leave ?
~d) Whyso early did'she leave ?

51. 14 #AX 91?{ ﬁﬁ ﬂ ?ﬂ?r 3? 'Strﬁ FA & /A speed of 14 meters per second is the
same as

A) 28 ResfiafEel km/hr B) 46.6 ReirsfEer km/hr  C) 50.4 Reeir ey
km/hr D) 70 fmir.ufaeier /km/hr

52. uasa{ﬁ#rﬁmarzrﬁrso%m‘rm SEET 3T 20%FE S ¥ AR 9 e wwr
10%. 92T & § @Y 31T Sad fahder 9favd 8 / A man spends 80% of his income. His

income is increased by 20% and he increases his expenditure by 10%. His saving are

increased by: |
A)30% B)20% C)32% D) 60 %

53. 10R= & fraer feic @ & /How many minutes are there in 10 days?

A)14400 . B)1000  C)60000 D) 24000
54. (796 X 796 -204X 204) =
a.( 592000 b.692000  c.455850  d.584000
7
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A S U B .

grel & AR g amr w9 4 g A A 5
ompany doubles after every one year. If the initial

¢ income after 5 years?
c.1.2838/ crores  d.2.56 Fs/crore

55, T e zﬁtamﬂﬁf"“‘ﬁto
o arg ey @ g/ dncome Ly

income was Rs.4lakh. what Wo;i’{’l?/ croré
a. 96 @@/ lakhs b. 1
31, 0N, 3ilfoys fratrer, vararer farameraiie sha
s (1007 & ! :

56. I A 76,65,82,67 3T 85 3*3;; ¥ /  Ramu obtained 76,65,82,67 and 85 marks

i e b mathematics physics: chemistry and biology. What are his average
(out of 100) in English, ma '
marks? c.89 d. 77 & F& A /none of these

a. 65 b.76 ' K

_ ¥/ gvaluate 28% of 450 + 45% of 280

57. 450 T 28% +280 FT45% A

a. 320 o b. 120 c.542 d.252

- #mmmtsooﬁm&ﬁrmwaoﬁw 3T A i
. %/ Aperson purchased a cycle for Rs.1,800 and sold it to Rs.1980. What is the

percentage of Profit ?
A)12% B) 14%

Wmﬁmmﬁmg.mammﬁwﬁm#m%ﬁmﬁw
#qU &1 / A does a work in 10 days and B does the

s they together will do the same work?

ys d)9 faei/days

€) 15% D) 10%

59.T7
SNt e 3@ P @ e o
same work in 15 days . in how many day
A) 5 Re/days B)6 feet/days’ c) g &=/ da

60. Pty et # @l @ e 4 & R & & / In the following numbers,

which number is divisible by 4? - _
A) 477 B) 516 C)625 D)710

61, 36 e e FT @Y 18 et F o A § o qArt 6 27 el 3@ FH e
f&e7 3 qu #¥WT / 36 men can complete a piece of work in 18 days. In how many days will

27 men complete the same work ?
a. 24 R /days b. 28 R /days c.34 R/ days d.35 fT/days

62. 2x2.1x1.6x1;5= ‘
A)10.732 B)10.752  C) 10520 D) 10.270

63. 5760 @ 30% &/ 30%0f5760is
A) 192 B) 2420 C)1728 °  D)1490

64. 15 & a3 T § / What is the square of 15 ?
a)15  b)30 ¢)252 d)225

65. 7 @t a¥ # Rt AF AT ¥ Ina century how many months are there?

a) 12 b) 120 €)1200 d)12000
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A=

66. 935867-456578=
a) 489239 B)6756;  )a67834  D)479289

67. I, Tﬁwaﬂrmé;»,m 1000,&3 2000 3T T 3000FAHT e frswrer st

famTl'\WWGOO?}n‘F{mq;\rm aﬁ;;@—nm‘rmm?/ Ram, Rahim and Robert
started a business by inVESting Re 1-000 Rs.2000 and Rs.3000 respectively. Find the share of

Rahim, out of an annual profit of rs. 600

a) 100 b)150 proch d)250
68. 7589-__ ?=3434
a)a242 b)4155 ¢)3123 d)2153
69. 39678+ =79589
a) 39911 b)40289  ()39811 d)39912
70.15x15+8x____=17x17
a) 15 b) 18 c) 10 d)8

71.69x31+9x9-750 =
a) 980 b) 1270 c) 1470 d) 1410

72.aﬁmaﬁrmmwagooga¥wwﬁ?aﬁraﬁwmma‘nﬁ/ If

one’s fixed monthly income is Rs.76,800 . What is the annual income of that person?
a) ¥./Rs.9,40,500 b) ®/Rs. 9,35,600 . c) ®./Rs.9,86,600  d) ¥.//Rs.9,21,600

73.6:72::8: __? _
a) 88 b) 90 c) 96 d) 108

74. Ueh YAaTST T nﬁrwm.wﬁlﬁa%mu??sﬁmﬁm?ﬁq&aam/ The

speed of a train is 100kmph. What is the distance covered by it in 75 minutes?

a) 135 km - b) 110 km c) 140 km d) 125 km
75. 1/2x3/5 @ AT e S ¢ / The value of 1/2x3/5 is equal to:
a..1/2 b.3/100 G 3/5 d.. 2/5

76. TS R & wH A T 31w € / IRTS stands for

| a) #RAR Yo IRage #ar /Indian Railway Transportation Service
b) FRAT ¥ *faprer dar /Indian Railway Telecom Service
c) SRA Yof & dar /Indian Railway Track Service |
d) HRNT YT AT '?I'EIT. /ndian Railway Traffic Service
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77. fww RIS JfaRer e war o o0d €/ Where ig Vikram Sarabhai Space Cengre

located?

) AMERFET /Sriharikota b) fawdaaH frhifllvﬂnanthapuram
¢) SR /Bangaluru d) TiAqT / Chandipur ‘

78. 9fQat 3% FTRfRe 3% & aar swaier fear ST ® /' Which of the following is used in \
Pencils?
A) ABTST/Graphite B) Rifd=ia/ Silicon C) ¥R /Charcog] D) wrawi /Phosporus \

79.W#mmmmﬁa%mmmmwg/
which is one of the highest waterfalls in India. is Created by

(A) RN 58 Sharavati River (B) I S/ Kaveri Riyer
© T F& Tunga River (D) #E A& Mandovi River

Jog Falls

81. T R Tt o et aRaed are ISRAT & /Western Ghats does not traverse

which of these Indian states ?

a) AR /Maharashtra b) d&=T=Y Telangaha
¢) ISR /Gujrat d) I Tamilnady
82. 5T ¥ Wiy I F 9 F :i7 Regg g/ Whois Popularly known as the “Iron Man” of

“India?

a. ool g1y e /Lal Bahadur Shastri ‘
b. WErR T S A/ Sardar Vallabh Bhai Patel
C. HGIHAT M/ Mahatma Gandhi
d. ST IR, 379 / Dr.BR Ambedkar
83. fasw=r wmeT 4y TEell T S g oy which was the first capital of

Vijayanagara Empire?
- ) 819/ Hospet b) TF9/ Hampi
'o)SIST /Bijapur d)"'\?[ﬂ Mysore

84. fifaf@a & ¥ s o sreomger UEN A THURN ¥/ Which of the following is the capital city
“of Arunachal Pradesh? ;

a. STHRY Itanagar . b) E?g’(‘/ Dispur
C. $7HIeT /Imphal d. FifgA/K ohima
10
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85. 3mfdeay
4 W o Ay %/ What does «Archipelago” means?
b. @1 |Hg/ group of mountains

a. AR} r
HHg/
c. gdmat & ) 8rOup of rivers y .

g &Youp of islands Jd.art &1 wHg/ group of stars

86. IS IFWST T A ey 3 Reerer & /in which city the Gol Gumbaz is located?
aINRT / Agra 0 ‘h AT /Bijapur
c. FTHA Kollkotta 4, fely Delhi

87. AGE # =k @y Ry ug ¥ Wh.ich is the popular festival celebration in Mysore?

3 a. Raufy /Shivrathri b.gre/ Holi
: : c. f&arelr /Diwali d. grgT /Dasara :
88.. HRT A PR ¥ 77 3 frgy s st & / Who Is known as the Nightingale of India ?

a. AR WS gy Mrs.Sarojini Naidu

b. srAelr AAAT T=5ft /Mrs.Mamata Benerji

c. e T . Mrs.Indira Gandhi
d. A geg @@ Mrs.Subbu lakshmi

89. Marsifer Rraer forar 1/ Who wrote Gitanjali ?

a. & Tiﬂ'oa?m &I / Mr.Rabindra Nath Tagore

b. # SToT ST T Mr.Lala Lajpat Rali
c.#' TER Jee 7§ ww / Mr.Sardar Vallabh Bhai Patel

d-% 4 ¥fF\ 9 =it /Mr.Bankim Chandra Chatterji |

90. HECAT AgIeH aréirc: ey @ SeH §3n a1 /Mahatma Mohandas Karamchand Gandhi

was born on
" a. 3@/ October 2 1896 b. 3rgaR /October 3 1879
c. 3%gaX /October 2 1869 d. sragay /October 3 1880

91. #Rd & wRauw & @Al & w7 7 Y e S & /Who was known as the chief architect
of the Indian constitution? ‘ :
a. & dram. 3w /Dr. B.R. Ambedkar
c. arer amuR fae Bal Gangadhar Tilak  d. g °@g @w /Subhas Chandra Bose

b. s /Chanakya

592 mﬁgﬂaﬂﬁ%aﬁ%ﬂﬁmmmﬁ Who was known as the father of

Greeh Revolution in India?
A. K.S Krishna Rao

B. TH.UH. TAFETY / M.S Swaminathan’
. C. TS gAY/ Raj Krishna Swamy
~ D.3(&.31d/ RK. Rao i

e
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1 S g/Wright Brothers are regarded
3. gz dy s AT
< gf;};?{ /Bicycle

inventors of the b otl
a. Q?qalli‘.lf']‘miﬂ ’ P b o
) 4.5 @ T3 A8 None of the above

¢. AR FRTA/Acroplane

+ e lOCA

o4, @t far fewa # /Red-Fort 15
yethi [C] aep .
(A1 e Chennal () 7 e ¥ ¢ st Luknow (0] st 1 Mumbai

- 137 ¥ His .
95, FRT 3T & fa eEfafad 3t Y IATHIET BT 1 &/ which of the following is

ted at

best soil to grow cotton?

a.#Te ALY /Black soil

b. AT FATEY/ Alluvial Soil
c. AT AT/ Laterite Soil

d. &1 fATAY/ Red Soil

96, T¥T FfY ————e—— ¥ FaOT &/ White revolution is related__
a7y 391 / Milk production b. Trae 3ed@ /Rice productiop

c. AcHT [Fisheries d. 3&F/fertilizers

97. Wi 3ryar A frad gurAr 4 /Kautilya or chanakya was the prime minister of
a. 9gar<T HRF / Chandra gupta Mourya b.FARAT / kumar gupa

C¥ FT ZaAT /Krishna devaraya d. sig1/Nandha

98. SR BT JeTe Fa YR FIT AV When was quit india movement started?
a. 3313/ August 1932 b. 3PRT August 1942

¢. 39T/ August 1922 d.g 9 @ gﬂ AET / none of the above

- 99. AR Far T F Sikic ] Eb‘mgq- aﬂ;r 3 / Who is the Supreme Commander of the Indian Armed .

F orces ?
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a) IR & @ AN/ The DercncelMinist or of India

b) #RT & FUIAFHA/The Prime Minister of India

c) Sm—d-‘a? R wiw & T | The Chief of Defence Staff of India
d) SR & wgufy / The President of [ndia

100. W a; m m ﬁ E /I I -:] StEtE l.S thE Stat"e :fU -l l l

a) &/ Delhi b) ISR /Gujrat ¢) AFERTSE /Maharashtra d) AfFeZ/ Tamilnadu

101, TSI R 1 Aew Ry wwqr g/ What is the recognized Script of Rajbhasha
Hindi?

a. GdsINI/Devanagari b. gFfafa+i/ Dravidian . IRAI/Persian d.37dS11/English

102.  JSTHIYT AT & 37w o1 Y Rectey &TAT 27 §ieT 31T /In how many regions the

nation has been divided as per Official Language Policy
a. 5 b.7c.3 d. 4 '

103. wmﬁmﬁmﬁagaﬂ T/When was the Official Language Rules Passed?
a. 1978 b.1975c.1976 d.1977

104. TTTST AtTORTA Ay arT 3(3) ﬁma&ﬁmgé 4Y/From which year section 3(3) of the

Official Language Act take effect? .
a. 1965 b.1964c.1963 d.1962

105.  T¥&r e & SeATAT ST &/When Hindi Day is celebrated?
a.16 ATY/16™ March  b.14TAEe/ 14" September -

. 267d9Y/26™ November d. 225/ 22" June

106. mmraﬁﬁgw—orﬁw%ﬁotal Number of Official Languages is
a. 20 b21 ¢.22d.25 .

107. ¥ RS wfRfa & aeas S &/The Chéirman of Central Hindi Committee shall be

a. STUTa/ President b T F:A1/Prime Minister
c. ?ngi'a?f/Home Minister d.XeT #1/Railway Minister
108. mm%m#m#m%ﬁ%mmmmmmmmmy

Which language can be used in addition to Hindi for official'purpbses of the union and for use in

Parliament.

o R Tamil  b.3G/Urdu
c. 3iAsi/English d.FEpeT/Sanskrit
13
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&/Offici
ia\ Language of Andman And Nicobar

island is------

A f¥Q/ Hindi b, affer/Tamil « grerared/Malvalam d. gy e oy

: a3 ,
T o am— TR S R o ST & IChandigarh comes wderwhich
region of Official Languuage Policy

aA bC cB d.ﬁﬁ%aﬁéqﬁmoneoﬂhese
-End-
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SLECTION OF STATION MASTER — 15% LDCE quota |

M@?ﬁl’““ Key Answer | sI.No. | Key Answer \
- ~a A 93 C |
—a 28 C 94 | B |
—5 ) A 95 | A |

3 50 B 96 2
__—-—-—«’c—‘:’:': 51 ~_c 97 \‘ A ‘\\
— [ w | o e le |
— = A 99 | D 1

. 54 A 100 B l

: = 55 C 101 A

2 N 56 D 102 c

10 5 = D 103 c

= 5 o3 D 104 A

= c 29 B 105 B

14 A 60 B 106 C

T = & A 107 B

= = 2 B 108 c

= = = C 109 A

= = " D 110 c

19 C 65 c

20 D 66 D

21 D 67 c

22 D 68 B

73 C 69 A

24 B 70 D

o5 A 71 C

26 D 72 D

27 A i €

28 A i o

29 A. 75 B
) C 76 D l
31 C 77 B B
) C 78 A ﬂ
33 A 79 A
34 A = A |

35 C 81 B J

36 c o 2

37 B £3 5

38 C = A

35 A 85 c

T C 86 B

41 c gL >

42 A = A

T A 89 A

o A 30 c

45 C 91 . A d

26 C 92 B
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